TRIG-STAR PROBLEM 1-A LOCAL CONTEST

ANSWER FORMAT

NEAREST HUNDREDTH
DEGREES~MINUTES—SECONDS
TO THE NEAREST SECOND

Qolehaker : cdeofee mede
ﬁvdeme; ek wwi&, LUST be. shown
S e redit
REQUIR
B DISTANCES:
ANGLES:
AL C
KNOWN: DISTANCE AB = 39.39  DISTANCE BC = 82.56
FIND: DISTANCE AC = (5 POINTS)
£ CBA = {5 POINTS)

TRIG-STAR PROBLEM 1-B LOCAL CONTEST

REQUIRED ANSWER FORMAT

DISTANCES: NEAREST HUNDREDTH
ANGLES:  DEGREES—MINUTES—SECONDS

70 THE NEAREST SECOND

]
H
KNOWN: DISTANCE EF = 46.15 £ GFE = 1202018" ¢ FEG = 43'34'24”

FIND:  DISTANGE EH = (6 POINTS)
DISTANCE FH = (6 POINTS)
DISTANCE FG = (6 POINTS)
DISTANCE GH = (6 POINTS)
« EGF = (6 POINTS)

PAGE TOTAL: . POINTS
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TRIG-STAR PROBLEM

LOCAL CONTEST

REQUIRED ANSWER FORMAT

DISTANCES: NEAREST HUNDREDTH
ANGLES: DEGREES~MINUTES—SECONDS
TO THE NEAREST SECOND

B
ALl
KNOWN:  DISTANCE A8 =
FIND: 2 CBA =
DISTANCE AC =

56.15 DISTANCE BC = 116.25

(5 POINTS)
(5 POINTS)

TRIG-STAR PROBLEM LOCAL CONTEST

REQUIRED ANSWER FORMAT

DISTANCES:  NEAREST HUNDREDTH
ANGLES:
TO THE NEAREST SECOND

DEGREES—MINUTES~SECONDS

E il G
H
KNOWN: DISTANCE FG = 133.95 £ GFE = 119'29°56" . FGE = 1674’55
FIND: = FEG = (6 POINTS)
DISTANCE FH = (6 POINTS)
DISTANCE EF = (6 POINTS)
DISTANCE GH = (6 POINTS)
DISTANCE EH = (6 POINTS) PAGE TOTAL BOINTS
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TRIG-STAR PROBLEM 2 LOCAL CONTEST

Hind e Daw in %}S

REQUIRED ANSWER FORMAT

DISTANCES: NEAREST HUNDREDTH
ANGLES: DEGREES—MNUTES—SECONDS
TO THE NEAREST SECOND

KNOWN:  DISTANCE BC

128.82 DISTANCE CD = 68.86

4 BAD = 82°28'20"
FIND: DISTANCE AB = (10 POINTS)
DISTANCE AD = {10 POINTS)
DISTANCE AC = (10 POINTS)
PAGE TOTAL: . POINTS
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TRIG-STAR PROBLEM LOCAL CONTEST
Samz Hm‘?_’

REQUIRED) ANSWER FORMAT

DISTANCES: NEAREST HUNDREDTH
ANGLES:  DEGREES-MINUTES—SECONDS
TO THE NEAREST SECOND

KNOWN:  DISTANCE BC

95.73 DISTANCE CD = 50.15

It &

2 BAD = 78%47'57"
FIND:  DISTANCE AB = (10 POINTS)
DISTANCE AD = (10 POINTS)
DISTANCE AC = (10 POINTS)
PAGE TOTAL: ________ POINTS
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TRIG-STAR ANSWER KEY LOCAL CONTEST

PAGE 1
oo -
DISTANCE AC =
PAGE 1
< Feo =
DISTANCE FH =
DISTANCE EF =
DISTANCE GH =
DISTANCE EH =
PAGE 2
DISTANCE AB =
DISTANCE AD =
DISTANCE AC =
PAGE 3
DISTANCE AE = [ 128.88

ARC DISTANCE E-F £5.02

1l

AREA AEFG 2836
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TRIG-STAR PROBLEM 1A LOGAL CONTEST

PAGE 1, PROBLEM 1-A

DISTANCE AL = 72.56
= CBA = 61°30°12"

PAGE 1 PROBLEM 1-B
DISTANCE EH =
DISTANCE FH = [ 3181 |
DISTANCE FG =
DISTANCE GH =
o =

PAGE 2
DISTANCE AB = |  86.48
DISTANCE AD = | 139.04
DISTANCE AC = | 15516 |
PAGE 3
DISTANCE AB = | 41076 |
DISTANCE BC =
DISTANCE BD = | 401.98
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